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8TH GRADE MATHEMATICS TEST PREP
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11. Which equation does not represent a linear function of x?
a. y =	b. y=		c. y =-3+2x		d. y =3x2-2


12. A water tank is in the shape of a right circular cylinder with a height of 20 feet and a volume of 320.  What is the diameter, in feet, of the water tank?
a. 16		b. 10		c. 8		d. 4



13. Which phrase best describes the graph of y = -2x +5?
a. a U-shaped curve that opens upward
b. a U-shaped curve that opens downward
c. a line that falls from left to right
d. a line that rises from left to right

14. What is the solution to the equation below?
3(2x-4)+2(x+7)=6
a. x =		b. x=		c. x=		d. x= 


15. A line has a slope of  and passes through the origin.  Which point lies on this line?
a. (-3, -1)		b. (-1, 3)	c. (3, -1)		d. (3, 1)

16. Which equation is true for all of the values of x and y shown in the table?
	x
	y

	
	-2

	
	2

	1
	1



a. y= 			b. y= 		c. y =4x		d.  y=x
 
17.  Calculate:    
a. 4-32 			b. 4-2		c. 44		d. 412

18. Which expression is equivalent to the fraction shown below?

a. 
b. 
c. 
d. 

19. Vertex D of rectangle ABCD is located at (3, -6). A dilation of ABCE will result in the image A’B’C’D’.  If the dilation is centered at the origin and has a scale factor of 2, what is the coordinate of D’?

a. (1, -2)
b. (6, -12)
c. (5, -4)
d. (-6, 3)

20. A system of equations is shown below.
2x + 5y = 8
4x + 10y = 16
Which statement is about the ordered pair (-1 ,2 ) is true?

a. It is a solution to the first but not the second equation.
b. It is one of many solutions to the system.
c. It is not a solution to either equation.
d. It is the only solution in the system.


SHORT ANSWER/CONSTRUCTED RESPONSE
QUESTION #21
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QUESTION # 22
Solve the system of equations graphically.   
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    y =x
    2y = -x + 8




QUESTION #23
If ST is reflected across the line y = x, what is the new coordinate point of T'?     T’ (           )
[image: http://www.testprepreview.com/images/common-core-math-geometry-3.jpg]
















QUESTION #24
[image: http://www.testprepreview.com/images/common-core-math-geometry-1.jpg] Rotate trapezoid JKLM clockwise 180 degrees. Label trapezoid J’K’L’M’. What is the coordinate of J’ (    ,   )?





















MULTIPLE CHOICE
QUESTION #25
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QUESTION #38 – Which graph represents a function
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Which number is equivalent to %[7
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Figure Q was the result of a sequence of transformations on figure P, both shown
below.
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Determine the product

8005 x (2% 10°)

A 17x107
B 1.601x107
€ 17x10°
D 1.601x10°
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At a given time, Saturn was 9.1x10° miles from the Sun and Earth was 9.3 x107 miles
from the Sun. By what distance is one planet dloser to the Sun than the other planet?

A 2x10'
B 2x10®

C 817107
D 817x10°
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The combined volume of all the tanks at an aquarium is 1.25 x 10¢ gallons. The
aquarium plans to install a new dolphin tank with a volume of 250,000 gallons. What
will be the total volume of all of the tanks at the aquarium after the new dolphin tank
is installed?

A 15x10°
B 375x10°
€ 15x10°
D

3.75 x 10°
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Rectangle R undergoes a dilation with scale factor 0.5 and then a reflection over the
y-axis. The resulting image is Rectangle S. Which statement about Rectangles R and $
is true?

A They are congruent and similar.

B They are similar but not congruent.

€ They are congruent but not similar.
D

They are neither congruent nor similar.
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In the diagram below, three lines intersect at A The measure of ZGNF is 60°, and the
measure of ZMNL is 47°.
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What is the measure of
A a7

B 607
c 73
D 107°

ZHNK?
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The table below shows the cost of different numbers of goldfish at a pet store.
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COST OF GOLDFISH

Number of
Goldfish | o5t
5 $1.50
10 $3.00
15 $4.50
20 $6.00
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The cost is a linear function of the number of goldfish. Which statement describes the
rate of change of this function?

A The cost increases $0.30 each time 1 goldfish is added
B The cost increases $1.50 each time 1 goldfish is added
€ The cost increases $3.00 each time 5 goldfish are added
D

The cost increases $6.00 each time 5 goldfish are added
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The population growth of two towns over a period of five years is represented by the
system of equations below, both algebraically and graphically,

y=x+6
y=2+2
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Which ordered pair is the solution to the system of equations?

A

B
[
D

. 6
4, 10)
6. 2)
(0, 4)
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The four tables below show relationships in which the x values represent inputs and
the y values represent the corresponding outputs.

Q R S T
x| ¥ L L x| ¥
2 | 3 1| s 2| 3 3| 4
1 3 2 4 1] 3 4| s
3| =3 3 7 3| 3 3| 4
5 3 4 | 10 5| 3 4| s

Which table represents a relationship that is not a function?

A Q

B R
C s
DT
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The three different linear functions below are represented in three different
ways, as shown.

100
h

2y+3=3x

) an), (40}

Which function has the greatest rate of change? Does any pair of functions have the
same rate of change? Justfy your answer.
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Use the graph to answer the question.
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Which pair of transformations moves quadrilateral 1 to quadrilateral 27

reflect it over the line y = =3, then rotate it 90° counterclockwise about the origin
reflect it over the x-axis, then rotate it 180° about the origin

rotate it 90° counterclockwise about point (-3, —3), then translate it 8 units to the right
translate it 8 units to the right, then reflect it over the line y = -3
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Which expression is equivalent to (8%)%?
A -1

Bz
’
Sl
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There were approximately 1.6 x 10" pieces of mail processed by the United States Postal
Service in 2012. This is about 75% of the number of pieces of mail processed in 2006.
Approximately how many pieces of mail were processed by the United States Postal Service in
20067

A 12x10"

B. t12x10"

0. 2a3% 0™

D. 2.13x 10"
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USE to Graph BEIOW 10 aNSWer o quosTon.

Quadriateral PORS will s rotated 90° clockwise about the origin resulling in quadritaterst
PORS'. Which statement is trus?

A, RS il be paraliot to RS,

8. 5P will be pavallel to RS,

€. Themeasure of 2P will be 80°.

D. Themeasurs of £Q wil ba 50°.
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Which set of ordered pairs models a function?
A {(2,9),(7,5).(3,14),(2,6)}
B. {(5, 10), (5, 15), (5, 20), (5. 25)}

ol

5y 3 z MJIbF 1 %
€ e5-3) =) b5 -5) (550

D. {(-10, 20), (-20, 30}, (30, 40), (~40, 10)}
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Cecll has a paper cup in the shape of a cone, as shown below.

Cecil's Paper Cup
l=-3 in~|

1
|

What is the volume of Cecil's paper cup?
A 2%:{ cubic in.

B. 3%71 cubic in.
€. 15z cubic in.
D. 60z cubic in.
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A weather station recorded the amount of rain that fell during an 8-hour time frame using a rain
gauge. The findings are recorded in the graph below.

Between which hours was the rate at which the rain fell greater than the rate at which the rain
fell between hours 0 and 17

Amount of Rain in Rain Gauge

Y
'y
S A. between hours 1and 4
§ 6 B. between hours 4and §
E i C. between hours 5and 6
g 3 D. between hours 7 and 8
°
E 2
1 7/
>
X

0 1284566 74
Time (hours)
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|Use the graph below to answer the question.

‘ i)
Y

Which equation has the same y-intercept as the fine in the graph, and a siope that is the
opposite of the stope in the graph?

A y= %x-—a

3 y= %xa 3
C. y=-2x=3

D oy=24-3
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Which line represents the best fit for the scatter plot data?
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Which phrase describes a nonlinear function?

the area of a circle as a function of the radius
the perimeter of a square as a function of the side length

the cost of gasoline as a function of the number of gallons purchased

O N w >

the distance traveled by a car moving at constant speed as a function of time
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Which equation represents a linear function?
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A researcher studied the eyesight of people at different ages. She calculated a vision
score for each person in the study and plotted the data on the graph below.

i EYESIGHT STUDY

110
108 * o
106 T -
104
102 . o
100
98

Vision Score

W >«

0 20 25 30 35 40 45 50 55 60 65 70 75
Age (years)

The researcher used the line y = —0.1x + 110 to model the data. When she substituted
the value x = 65 into this equation, what did the result tell her?

A the exact value for the vision score of a 65-year-old

B the predicted value for the vision score of a 65-year-old

C  the minimum possible value for the vision score of a 65-year-old

D

the maximum possible value for the vision score of a 65-year-old
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The scatter plot shows the sizes and annual rents of some office spaces in the

downtown area of a city.

i SIZE AND ANNUAL RENT OF OFFICE SPACE
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What would the line of best fit reveal about these data?

A

There is a strong negative relationship between the cost of rent and the size of
the office space.

There is a strong positive relationship between the cost of rent and the size of the
office space.

There is a weak positive relationship between the cost of rent and the size of the
office space.

There is a weak negative relationship between the cost of rent and the size of the
office space.
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Which function has a greater slope and a greater y-intercept than the linear function
represented in the table?

The table below represents a linear function. A y=2+85
x y B y=3x+75
- 5 C y=5x+65
! 9 D y=10x+55
3| 13
5 | 17
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Which sequence of transformations could take figure P to figure Q2

A

B
[
D

reflection over the x-axis and translation 7 units right
reflection over the y-axis and translation 3 units down
translation 1 unit right and 180° rotation about the origin

translation 4 units right and 180° rotation about the origin




